

الف) $t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000}$

ب) $t_{10} = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow t_{10} = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000}$

الف) $t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000}$
 $S_n = \frac{n}{p}(a_1 + a_n) \rightarrow a_{10} = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow S_{10} = \frac{10}{p}(\frac{1}{10} + \frac{1}{100} + \frac{1}{1000}) = \frac{10}{p}(\frac{1101}{1000}) = \frac{1101}{100p}$
 $\rightarrow S_{10} = \frac{1101}{100p}$
 ب) $t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000}$
 $S_n = \frac{n}{p}(a_1 + a_n) \rightarrow a_{10} = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow S_{10} = \frac{10}{p}(\frac{1}{10} + \frac{1}{100} + \frac{1}{1000}) = \frac{1101}{100p}$
 $\rightarrow S_{10} = \frac{1101}{100p}$

$d = 1 - (1 + \sqrt{3}) = 1 - 1 - \sqrt{3} = 1 - \sqrt{3} \rightarrow \begin{cases} t_{10} = t_1 + 10d \\ t_{100} = t_1 + 100d \end{cases} \rightarrow t_{100} - t_{10} = 90d = t_1 + 100d - (t_1 + 10d) = 90d$
 $\rightarrow t_{100} - t_{10} = 90d \rightarrow 90d = 90d \rightarrow d = 1 - \sqrt{3}$
 $\rightarrow t_{100} - t_{10} = 90(1 - \sqrt{3}) = 90 - 90\sqrt{3}$

$r(x, y) = \frac{1}{x} + \frac{1}{y} \rightarrow \frac{1}{x} + \frac{1}{y} = \frac{1}{2} \rightarrow \frac{1}{x} = \frac{1}{2} - \frac{1}{y} \rightarrow \frac{1}{x} = \frac{y-2}{2y} \rightarrow x = \frac{2y}{y-2}$
 $r(x, y) = \frac{1}{x} + \frac{1}{y} \rightarrow \frac{1}{x} + \frac{1}{y} = \frac{1}{2} \rightarrow \frac{1}{x} = \frac{1}{2} - \frac{1}{y} \rightarrow \frac{1}{x} = \frac{y-2}{2y} \rightarrow x = \frac{2y}{y-2}$
 $\rightarrow xy = 2x \rightarrow xy = 2x$

$r(x, y) = \frac{1}{x} + \frac{1}{y} \rightarrow \frac{1}{x} + \frac{1}{y} = \frac{1}{2} \rightarrow \frac{1}{x} = \frac{1}{2} - \frac{1}{y} \rightarrow \frac{1}{x} = \frac{y-2}{2y} \rightarrow x = \frac{2y}{y-2}$
 $t_n = \frac{1}{10} + \frac{1}{100} + \frac{1}{1000} \rightarrow d = \frac{1}{1000} \rightarrow t_n = \frac{1}{10} + (n-1)\frac{1}{1000} \rightarrow t_{10} = \frac{1}{10} + 9\frac{1}{1000} = \frac{109}{1000}$
 $\rightarrow t_{10} = \frac{109}{1000}$

$a_n = 1, 2, 3, 4, 5, \dots \rightarrow a_n = n+1 \rightarrow a_{10} = 10+1 = 11$
 $b_n = 1, 0, 1, 0, 1, 0, \dots \rightarrow b_n = n-1 \rightarrow b_{10} = 10-1 = 9$
 $c_n = 1, 0, 1, 0, 1, 0, \dots \rightarrow c_n = n-1 \rightarrow c_{10} = 10-1 = 9$
 $(C) \quad \omega, 1, 0, 1, 0, 1, 0, \dots \rightarrow c_n = n-1 \rightarrow c_{10} = 10-1 = 9$
 $\omega, 1, 0, 1, 0, 1, 0, \dots \rightarrow c_n = n-1 \rightarrow c_{10} = 10-1 = 9$
 $\omega, 1, 0, 1, 0, 1, 0, \dots \rightarrow c_n = n-1 \rightarrow c_{10} = 10-1 = 9$

$a_1 + a_r + a_w = r a_r = 11 \rightarrow a_r = 11$
 $a_1 = 11 - r a_r = -11$
 $a_1 + a_r + a_w = r a_r = 10 \omega \rightarrow a_r = 10 \omega$
 $d = \frac{r a_r - V}{1} = 11$
 $\rightarrow \frac{a_r - a_1 + a_1}{a_1} = \frac{r a_r - V + a_1}{a_1} = \frac{11 + a_1}{a_1} = \frac{11 - 11}{-11} = \frac{V}{-11} = \left(\frac{-1}{11} \right)$
 $\frac{a_r - a_1 + a_1}{a_1} = \left(\frac{-1}{11} \right)$

$t_1 + t_r + t_w = 10 \rightarrow r t_r = 10 \rightarrow t_r = 10$
 $t_f + t_w = 10 \rightarrow t_r + r d + t_r + r d = 10$
 $\rightarrow r t_r + 2 d = 10 \rightarrow 10 + 2 d = 10$
 $\rightarrow d = 0$
 $\rightarrow t_n = 1, 0, 1, 0, 1, 0, \dots \rightarrow t_n = n-1 \rightarrow t_{10} = 10-1 = 9$
 $\rightarrow t_{10} = 9$

$S_n = \frac{n}{2} (r a_1 + (n-1) d)$
 $S_4 = \frac{4}{2} (r a_1 + 1 d) \rightarrow S_4 = 2 (r a_1 + d)$
 $S_7 = \frac{7}{2} (r a_1 + 6 d) \rightarrow S_7 = \frac{7}{2} (r a_1 + 6 d)$
 $r a_1 + 1 d = 7 a_1 + 6 d \Rightarrow r a_1 = 6 d \rightarrow d = r a_1$
 $\frac{a_{10}}{a_1} = \frac{a_1 + 9 d}{a_1 + d} = \frac{a_1 + 9 r a_1}{a_1 + r a_1} = \frac{10 r a_1}{11 r a_1} = \left(\frac{10}{11} \right) \rightarrow \left(\frac{a_{10}}{a_1} = \frac{10}{11} \right)$

$t_1 = 11 \left\{ \begin{array}{l} d = \frac{t_m - t_n}{m - n} = \frac{11 - 1}{10 - 1} = \frac{10}{9} \Rightarrow d = \frac{10}{9} \rightarrow t_f = t_1 + r d = 11 + 11 = 22 \rightarrow t_f = 22 \end{array} \right.$
 $a_f = a_1 + r d' \rightarrow a_f = 11 + r d' \rightarrow r d' = -10 \rightarrow d' = -\frac{10}{r}$
 $\frac{11 - 11}{(n+1)} = -10 \rightarrow -10 n - 10 = 11 - 11 \rightarrow -10 n = 10 \rightarrow n = -1$
 $n = -1$
 $\frac{a_n - a_1}{n+1}$